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e Numpy http://www. numpy. org

* Scipy http://www. scipy.org

e Matplotlib http://matplotlib.org

e Scikit—learn http://scikit—learn. org
 Pandas http://pandas. pydata. org

e TensorFlow https://www. tensorflow. org/
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BNumpy 1B 5 SciPy (Scientific Python) 1 Matplotlib (22E|E)
—iefEH, XMEST ZHTE MATLAB. NumPyBﬁ%TﬁE‘E{:Ii—JLI::- 45
W FzENHE LN, TEZEESNAIREMIEIEEE I

BNumpy =2 HiIRRY, XE2HEHTIMNIMNE,

e http://www. numpy. org

* https://www. numpy. org. cn
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np. arange ([start, Istop, [step, ldtype=None) __ a.dtype . name
o {5l

aranqeRs e e e _
Qe AT BIES = ned A E T T T
e 'i.n'Iﬂl:l"t ﬂump}r das np . )
== . 1TTems1Ze

»>> @ = np.arange(15).reshape(3, 5) . mpEEASTERATIAN,
~== (1 reshape () EFENEHRIGE , B FXEEAERNFT

array([[ @, 1, 2, 3, 4], .r'r':' a.size FERITTERIEEL
[5. 6, 7, 8, 9], =
[1@, 11, 12, 13, 14]]) »>> type(a)
=== O.shape <type 'numpy.ndarray’:
(3. 5) =»»= b = np.array([6, 7, 8])
wne gondim ETEERTER (R ) gU-PEY  arayEEMEIPythonIETITAR IR
2 array([6, 7, 8])

=» type(b)
2022/3/17 <type 'numpy_ndarray’ > 5
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« HARBE
>»> a = np.array(l,2,3,4) # WRONG
>»>> a = np.array([1,2,3,4]) # RIGHT
—TEINERETERZTHESZER array  BREL
>>> b = np.array([(1.5,2,3), (4,5,6)])

wu b

array([[ 1.5, 2., 3.1,
[ 4., 5, 6.1

array {EGRRZIRIRRYEEHARL 4R
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s BRI FFASHIEA
>»> np.zeros( (3,4) )

array([[ 0., 0., 0., 0.1,
[0., 0., 0., 0.],
0., 0., 0., 0.1

FREL zeros GIE—1HOHERMAVEIE
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>»> np.ones( (Z,3,4), dtype=np.intlb )

array([[

(1, 1, 1, 1

1, 1, 1, 11,

1, 1, 1, 1]

/i

k]

1,

[ 1, 1, 1, 1],
1, 1, 1, 1],
1, 1, 1, 1717, dtype=intl6)

AN ones  GIIE— R 1EEEAIEEH
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s B A ATFASRIEAE

s> np.empty( (2,3) ) # uninitialize
array([[ 3.73603959e-262, 6.02658058e-154, 6.55490914e-260],
[ 5.30498948e-313, 3.14673309e-307, 1.00000000e+0007])

BREYL empty WEE BHHGTEERTFESRAVAE.
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np.linspace EEFARBIEFELT,

>>> np.linspace( @, 2, 9 )
array([ @. , @.25, ©.5, @.75, 1. , 1.25, 1.5, 1.75, 2. 1)

numpy. linspace (start, stop, num=50, endpoint=True, retstep=False, dtype=None)

start: 3R [FIFEAREE 46

stop: iR [FIFEA I 45 R 5

num: £ B FEAR S =, BRIA 50

endpoint: Truelllf & stop; FalselllANE, 4% stop

retstep: If True, return (samples, step), where step is the

spacing between samples. (BJu1 5 NTruell]4h 5B <45 H 24 8] FE)
dtype: %07
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e ] = np.arrﬂy{ [2@,3954955@] )
>>> b = np.arange( 4 )

\

=>> b

array([®, 1, 2, 3])

>>> € = a-b

>

array([20, 29, 38, 4/7])

=»> b**7

array([@, 1, 4, 9])

>>> 10%*np.sin(a)

array([ 9.12945251, -9.88031624, 7.4511316 , -2.64374854])
=>> Q<35

2022/3/17 array([ True, True, False, False]} 1
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> A = HF-QPPQF{ [[1,1]1,
(0,111 )
== B = HF-QPPQF{ [[Z£,@],
[3,41]1 )
== A¥B
array([[2, @],
[0, 4]1]1)

BT S I R BT
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* REPE 2 3fe

>>> A.dot(B)

array([[5, 4],
[3, 411D

>>> np.dot(A, B)

array([[5, 4],
[3, 411D

FRRERTRABEEATH
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»»>> @ = np.ones((2,3), dtype=int)
»>> b = np.random. random((Z2,3))
>>> a *= 3 np.random.random()
- i size RIS ELEE A A0, 1) 2 B AT s 5K
array([[3, 3, 3],

[3, 3, 311)

>>> b += a

»am> b

array([[ 3.417022 , 3.72032449, 3.00011437],
[ 3.30233257, 3.14675589, 3.092338591])

14
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’E‘ﬁ\ﬂ\ EEi'IJ\\ EE_ij(
»>>> @ = np.random. random{({Z,3))

e

array([[ ©0.18626@21, ©.345560/73, ©.396/67/4/7],
[ @.538816/73, ©.41919451, @.6852195 1)

>>»> a.sum{)

2.5718191614547998

>>»> a.min{)

@.1862602113776709

>>> a.max()
2022/3/17 @.685219500396/595 .
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»»> b = np.arange(12).reshape(3,4)

>>> b

array([[ @, 1, 2, 31,
[ 4, 5, b, /7],
[ &, 9, 10, 11]]1)

-

>>> b.sum{axis=0)

array([12, 15, 18, 21])

e

=»>> b.min(axis=1)

array([@, 4, 8])
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# min of each row
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=5l YA, 1ARK

>>> d = np.arange(1@)**3

= (]

array([ @, 1, 8, 27, 64, 125, 216, 343, 512, 729])

=>> al 2]

8

>>> a[Z2:5]

array([ 8, 27, 64])

>>> a[:6:2] = -1000 # equivalent to a[@:6:2] = -1000; from start to positic
= (]

array([-1000, 1, -1000, 27, -1000, 125, 216, 343, 512, 7291}
>»> a[ @ :-1] # reversed a

array([ 729, 512, 343, 216, 125, -1000, 27, -1000, 1, -10007)
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== b

array([[ @,
[10,
[20,
[30,
[40,
= b [Z? 3]
23

1,
11,
21,
31,
41,

>»>> b[@:5, 1]

array([ 1, 11, 21, 31, 41])

>>> bl ¢ ,1]

array([ 1, 11, 21, 31, 41])
-]
11, 12,
[20, 21, 22, 23]11)

>>> b[1l:3,
array([[10,

2,
12,
22,
32,
42,

&K

3],
15],

23],
33],

43]11)

137,

/i A T & a6 2 B

- School of Artificial Intelligence

>»> b[-1]
array([40, 41, 42, 43])

18
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»>> @ = hp.floor(1@*np. random. random((3,4)))
S np.floor IRERATHINSHEIBALEE,

array([[ 2., 8., ©., b.],
4., 5., 1., 1.],
8., 9., 3., 6.]1D
=>> a.shape
(3, 4)
>>> a.ravel() o SR — AR

array([ 2., 8., ©., 6., 4., 5., 1., 1., &., 9., 3., 6.])
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« BXEHERER

>»>> a.reshape(b,2)

array([[ 2.
[ @.

[ 4.

e T e T
LD oo =

>>> .l

array([[ 2
[ &.
[ @
[ 6.

>>> a.l.shape

(4, 3)

i a.shupe

2022/3/17
G,

7

]

"1

7

8.1,
6.1,
5.1,
1.1,
9.1,

6.11)

a

= = L
il

8.1,
9.1,
3.1,
6.11)
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array(_ [
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2.,
4.,

8.

3

array([[ 2.,

[ 1.,

8.
5.
9.
>>> a.resize((2,6))

8.
1.

3

3

3

3

3

2.
1.
3.

2.
8.

2

3
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6., 4., 5.1,
2., 3., 6.1D

reshape ERFIRBIEBEEAFERINEZEL , M ndarray.resize HiEESEEEES
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=>»> @d.reshape(3,-1)

array([[ £., 8., @., b.],
4., 5., 1., 1.],
&., 9., 3., b.]])

TEreshapelBFHRIGHEIRTER-1 , NEEantEH b4

it
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>>> @ = np.floor(18*np. random. random((Z2,2)))

o 3 Q ‘.'é. o ([
y&'ﬂ'i&ﬂ array([[ 8., 8.],
[ @., 0.]1D
>>> b = np.floor(1@*np. random. random((2,2)))
== b
array([[ 1., 8.7,
[ 0., 4.1D

e Hp.?EtﬂCk{{ﬂ}b))
array([[ 8., 8.7,

[@., 0.7,
[ 1., &.1,
[ 0., 4.1D

>>> np.hstack((a,b})
array([[ 8., 8., 1., &.],
2022/3/17 [0., 0., 0., 401 =
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- BR 7
>»>> a = np.floor(1@*np. random. random((Z2,12)))
= (]
array([[ 9., 5., 6., 3., 6., 8., 0., 7., 9., 7., 2., 7.1,
[ 1., 4., 9., 2., 2., 1., 0., 6., 2., 2., 4., 0.1
>»>> np.hsplit(a,3)
[array([[ 9., 5., 6., 3.1,
[ 1., 4., 9., 2.11), array([[ 6., 8., @., 7.1,
r2., 1., ., .11}, array([[ 9., 7., 2., 7.1,
[ 2., 2., 4., @.]])]

hsplit , o] LGAEK o E#E
vsplit OfNHRSEl
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2. BIE—AN3X W HERLR, {E1EH0%8
3. 1G—4E#Anp. arange (10) 353 21 TR — 4 #4R
4, ¥8#4Ha = np. arange (10). reshape (2, -1) F1g2Ab = np. repeat (1,
10) . reshape (2, -1) EHIHES
5. 1$#4Ha = np. arange (10). reshape (2, 1) F1#4Eb =
np. repeat (1, 10). reshape (2, —1) 7K FiEE
6. RBI—HEHLHnp. arange (9) . reshape (3, 3) B—{THHR KIE
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